S10 — Grips



https://www.gympart.com/itemdesc.aspx?ic=MCi01&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MCA7063&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MCA7006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS147&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

S10 — Swivel Pulley

Swivel Pulley (open)

TR

L
A

{1 : 5
L]
A

W

=
-

SM00-S0031-0000

Stainless Slide
SM00-M0001-0000

Single Pulley
Bracket (Lower)
SM00-50027-0000

Iltem Part Description Part Number
Number
4 1-3/4 Bolt 0017-00101-1413
Cap Washer 0017-00104-0368
3/8 NYLOC Nut

0017-00103-0217



https://www.gympart.com/itemdesc.aspx?ic=LF11417&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS238&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS237&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS984&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

S10 — Adjustable Pulley

Adjustable Plastic Insert 4.5" Pulley
Handle 0017-00009-0977

i/

&
g

Brass Bushing
0017-00009-0931

Pull Pin '

Stainless Slide 3.5" Pulley

Cap Lug Cap 0017-00009-1075

0017-00042-2968 SM00-M0001-0000
Cap Lug Washer

0017-00042-0365

Pan Head Screw

0017-00101-1524
ltem Part Description Part Number
Number
4 1-3/4 Bolt 0017-00101-1413
Cap Washer 0017-00104-0368
3/8 NYLOC Nut 0017-00103-0217



https://www.gympart.com/itemdesc.aspx?ic=LFS1347&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS471&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MC017.1&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF12411&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS149&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF11417&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS975&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS238&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS237&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS185&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS984&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS985&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

